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S=1:4000
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S=1:8000

Q1 C %9
Q1=1/360><F>< | <A
f
I 57.1 mm/hr) 10 1=5,600/(t( )+38)
A (ha)
(ha)
f 01( 3/s)
4.7168 0.30 0.2244
-1 1.0 < 0.3
4.7168 0.2244| 0.2370m*/s 1.0
2.4431 0.30 0.1163
-2 1.0 = 0.4
7.1599 0.3407| 0.3644m°/s 1.0
1.6018 0.30 0.0762
1.1670 0.50 0.0925
-3 1.0 < 0.3
2.7688 0.1687| 0.2370m%/s 1.0
5.7593 0.30 0.2740
2 1.0 < 0.6
12.9192 0.30 0.6147| 0.6551m’/s 1.0
2 1.0 < 0.7
15.6880 0.7834| 0.8135m’/s 1.0
5.7437 0.30 0.2733
-5 1.0 < 0.9
21.4317 1.0567| 1.1482m%/s 1.0
3.7320 0.30 0.1776
-6 1.0 < 0.3
3.7320 0.1776| 0.2370m*/s 1.0
0.2683 0.30 0.0128
3.8455 0.30 0.1830
1.2017 0.30 0.0572
1.1346 0.30 0.0540
0.5595 0.30 0.0266
1.3772 0.30 0.0655
0.6031 0.30 0.0287
0.6320 0.30 0.0301
2.1187 0.30 0.1008
HP
0.20 0.40 0.30
15 3
Q2=ax=\V
V=1/n><RA(2/3) < i (1/2)
a () R (=a/P)
v (n/s) P (m
n i
1.0 1.0
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